
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

الأسس السلبية

(−3) =0 6 =(−3)

(−5) =(−1) 9 =(−2)

(−4) =(−3) 10 =(−2)

(−10) =(−1) 5 =(−1)

6 =2 (−9) =(−1)

8 =2 7 =2

(−7) =2 10 =2

(−5) =2 8 =(−2)

6 =(−1) 7 =2

(−6) =(−2) (−3) =(−2)

www.snowmath.com

https://www.snowmath.com


　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

الأسس السلبية

(−3) = 10 6 =(−3)

216
1

(−5) = (− )(−1)

5
1

9 =(−2)

81
1

(−4) = (− )(−3)

64
1

10 =(−2)

100
1

(−10) = (− )(−1)

10
1

5 =(−1)

5
1

6 = 362 (−9) = (− )(−1)

9
1

8 = 642 7 = 492

(−7) = 492 10 = 1002

(−5) = 252 8 =(−2)

64
1

6 =(−1)

6
1

7 = 492

(−6) =(−2)

36
1

(−3) =(−2)

9
1

www.snowmath.com

https://www.snowmath.com

